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two (2) marks. Attempt all of them.

Read the passage given below and answer the questions that follow, based on

your understanding of the passage :

Many authorities may doubt that Indian thought had any effect on that of the
ancient West, but there can be no doubt of its direct and indirect influence on the
thought of Europe and America in the last century and a half, though this has not
received adequate recognition. This influence has not come by way of organized
neo-Hindu missions. The last eighty years have seen the foundation of the
Theosophical Society, of various Buddhist societies, and of societies in Europe and
America looking for inspiration to the saintly 19th-century Bengali mystic,
Paramahamsa Ramakrishna, and to his equally saintly disciple, Swami
Vivekananda. Lesser organizations and groups have been founded in the West by
other Indian mystics and their disciples, some of them noble, earnest and spiritual,
others of more dubious character. Here and there Westerners themselves, sometimes
armed with a working knowledge of Sanskrit and first-hand Indian experience,
have tried to convert the West to a streamlined Yoga or Vedanta. We would in no
way disparage these teachers or their followers, many of whom are of great intellectual
and spiritual calibre; but whatever we may think of the Western propagators of
Indian mysticism, we cannot claim that they have had any great effect on our
civilization. More subtle, but more powerful, has been the influence of Mahatma
Gandhi, through the many friends of India in the West who were impressed by his
burning sincerity and energy, and by the ultimate success of his policy of non-violence
in achieving India’s independence. Greater than any of these influences, however,

has been the influence of ancient Indian religious literature through philosophy.

The pioneers of the Asiatic Society of Bengal quickly gained a small but
enthusiastic following in Europe, and Goethe and many other writers of the early
19th century read all they could of ancient Indian literature in translation. We
know that Goethe borrowed a device of Indian dramaturgy for the prologue to
“Faust”, and who can say that the triumphant final chorus of the second part of
that work was not in part inspired by the monism of Indian thought as he understood

it? From Goethe onwards most of the great German philosophers knew something

J—0607 2
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of Indian philosophy. Schopenhauer, whose influence on literature and psychology
has been so considerable, indeed openly admitted his debt, and his outlook was
virtually that of Buddhism. The monisms of Fichte and Hegel might never have
taken the forms they did if it had not been for Anquetil-Duperron’s translation of
the Upanisads and the work of other pioneer Indologists. In the English-speaking
world the strongest Indian influence was felt in America, where Emerson, Thoreau
and other New England writers avidly studied much Indian religious literature in
translation, and exerted immense influence on their contemporaries and successors,
notably Walt Whitman. Through Carlyle and others the German philosophers in
their turn made their mark on England, as did the Americans through many late

19th-century writers such as Richard Jeffries and Edward Carpenter.

Though in the contemporary philosophical schools of Europe and America
the monistic and idealist philosophies of the last century carry little weight, their
influence has been considerable, and all of them owe something at least to ancient
India. The sages who meditated in the jungles of the Ganga Valley six hundred

years or more before Christ are still forces in the world.

The objectives of the author is to :

(A) Describe the effect of Indian thought on the thought of the western world
(B) Describe the influence of Neo-Hindu missions in Europe and America

(C) Describe the influence of Gandhian thought on the west

(D) Describe the spread of Yoga and Vedanta in the west

According to the author, during recent times, the more subtle and powerful impact
was that of the thoughts of :

(A) Swami Vivekananda (B) Theosophical Society
(C) Mahatma Gandhi (D) Paramahamsa Ramakrishna

Who among the following was a German philosopher to openly admit his debt to Indian
thoughts ?

(A) Emerson (B) Walt Whitman
(C) Schopenhauer (D) Thoreau

Where in the English speaking world was the influence of Indian thought felt
strongest ?

(A) Europe (B) England
(C) Canada (D) America

J—0607 4
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5.  The approach of the author to develop the theme of the passage is :
(A) Analytical (B) Descriptive
(C) Laudatory (D) Biased

6.  ‘Man like creature’, which racially differed from ‘Homo Sapiens’ is designated as :
(A) Neanderthal (B) Pithecanthropus

(C) Sinanthropus (D) Hominid

7. Match List - I with List - II and select the correct answer from the code given below :

List - 1 List - I1
(Harappan site) (Geographical Location)
(a) Satka - Kh (i) Punjab
(b) Shortughai (i) Afghanistan
(c) Kotlanihangakhan (iii) Baluchistan
(d) Deshalpur (iv) Gujarat
Code :

(@ () (o (@)

(A) @) @@ (Gv) (i)
(B) @) @) @) Gv)
(© Gv) (@) @ @)
(D) @) () @) @)

8.  Which of the following weapons of war have not been found in the Harappan
culture ? Select the correct answer from the code given below :

(i) Bows and Arrows (i) Swords

(iii) Shields (iv) Helmets

Code :

(A) (i) only (B) (ii) and (iii)

(©) (), (iii) and (iv) (D) (i), (iii) and (iv)

9.  Which Harappan site has yielded the evidence of stone-architecture in the form of a big
gate, circular pillar etc. ?

(A) Dhaulavira (B) Banawali
(C) Rakhigarhi (D) Bhagawanpura
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10.

11.

12.

Which features help us in identifying with S'iva the figure occurring on Harappan
seals ? Select the correct answer from the code given below :

i) It is represented with a trident

(i
(i) It is seated in the yogic posture
(iii) It is surrounded by animals

(

iv) It is accompanied by a Parvati like female figure

Code :
(A) (i) and (ii) (B) (ii) and (iii)
(©) (), (ii) and (iii) (D) (i), (iii) and (iv)

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The importance of irrigation to Indian agricultural conditions was
fully recognized.

Reason (R) : The Arthasastra refers to a water tax which was regularly collected
wherever the state assisted in providing irrigation.

In the context of the above two statements, which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Arrange the following Greco - Roman authors in the chronological sequence. Select
the correct answer from the code given below :

(1) Ktesias (2) Pliny (3) Strabo  (4) Ptolemy
Code

@ o 6 O O

B O @ 6 O

© @ O @ 6

D @ 6 @ O
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13. Arrange the following inscriptions in the chronological sequence. Select the correct
answer from the code given below :

(1) Separate Kalinga Edict
(2) Besnagar Garuda Pillar Inscription
(3) Sohgaura Copper-plate Inscription

(4) Nasik cave Inscription of Nahapana

Code :
@ 1O @ @ 6
B @ 6 O ©
© 6 O O ®
D @ @ 6 O

14. Which of the following pairs is not correctly matched ?
(A) Junagarh Inscription of Rudradaman : Tusashpha
(B) Hathigumpha Inscription of Kharavela : Parsvanatha
(C) Udaigiri Cave Inscription of Chandragupta II : Virasena Saba
(D) Mandasor Stone Inscription of Kumaragupta

and Bandhuvarman : Vatsabhatti

15. Match List - I with List - II and select the correct answer from the code given below :

List - 1 List - I1
(Ruler) (Figure on the Coin)
(a) Chandragupta II (i) Pallas
(b) Agathokles (i) Ardoksho
(c) Kshatrapa Rajuvula (iii) Balarama
(d) Kanishka (iv) Chakra-Purusha
Code :
(@ () (o (@
(A) Gv) (@) @ @)
(B) G) () (@v) @)
© @O @ @v) ()
(D) Gv) @ (D) (i)

16. Which one of the following inscriptions throws a significant light on the Pasupata sect
of Saivism ?

(A) Taxila Silver Scroll Inscription of the Kushana King

(B) Mathura Pillar Inscription of Chandragupta II
(C) Karamdanda S'ivalinga Inscription of Kumaragupta I
(D) Harha Inscription of Maukharai King Isanavarman
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17. The Paditrupputtu is a collection of poems in the praise of which of the following
Kings ?
(A) Chola (B) Chera (C) Pandya (D) None of these

18.  Which one of the following is correctly matched ?

(A) Kural : Kamban

(B) Ahananuru : Paranar

(C) Purananuru : Mamulanar
(D) éilappadigéram : Ilangovadigal

19. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : From a Nalanda copper-plate we learn that the Pala King Devapala
donated five villages for the upkeep of a Buddhist monastery at
Nalanda built by Balputradeva, King of Suvarnadvipa and yava-
bhumi.

Reason (R) : The Pala Kings are chiefly notable for their patronage of Buddhism.
In the context of the above two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
20. Match List - I with List - II and select the correct answer from the code given below the
lists :
List - I List - 11
(Thinker) (View about history)
(a) Spengler (i)  “The fact is....that past in history varies with
the present.”
(b) Travelyan (i) “History ends not in future but in present.”
() Oakshot (i) “History is a re-enactment of the past
experiences.”
(d) Collingwood (iv) “The value of history is not scientific. Its true
value is educational.”
Code :
(@ ((b) (o (@
(A) @) (@v) (@) ()
® (v O G G
(© @) (@Gv) @) @)
(D) Gv) (@) @) ()
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21.

22.

23.

24.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Balban sought to increase the prestige and power of the monarchy,
and to centralize all authority in the hands of the Sultan.

Reason (R) : He wanted to induct the Mongols into the nobility
In the context of the above two statements, which one of the following is correct ?
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
) (A) is true, but (R) is false
D) (R) is true, but (A) is false

Various Sufi orders were introduced in India at different points of time.

Which one of the following represents the correct chronological sequence of the
introduction of these Orders ?

(A) The Chishtis - The Suhrawardis - The Qadiris - The Nagshbandis

(B) The Chishtis - The Suhrawardis - The Nagshbandis - The Qadiris
(C) The Suhrawardis - The Chishtis - The Qadiris - The Nagshbandis
(D) The Suhrawardis - The Chishtis - The Nagshbandis - The Qadiris
Match List - I with List - IT and select the correct answer from the code given below :
List - 1 List - 11
(Women Bhakti saints) (Sectarian Association)
(a) Akkamahadevi (i)  Saint-Poetess belonging to the
Charandasi sect
(b) Lal Ded (i) Belonging to the Varkari sect
(c) Bahinabai (iii) Virashaiva Saint
(d) Sahjo bai (iv) Shaivite Bhakti poetess
Code :
(@ () (o (@)
(A) @) @) @ G
(B) @) @ (@v) (i)
© @) @Gv) @ @)
(D) @) (@v) @) @)

The contemporary chronicle of the Sayyid period is :
(A) Tarikh - i - Mubarakshahi

(B) Wagqiat - i - Mushtaqi

(C) Futub - us - Salatin

(D) Masalik - ul - Absar
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21.

22.

23.

T T I e T €, TF H A (A) FET T § IR T T H/IOT (R)

R (A) : TSTeH A TGl ht Yiasr 3T vIferd g™ ot =81 i T GHE AR RI bl God™ &
BTl H hiehd T @l |

SIUT (R) : I8 HNCl ol STHR I | Wl ST arean o |

ST 31 gl & T # frfafaa § 9 sH-a1 96 82

(A) (A) 3R (R) THI T& T, 3R (R), (A) T T =A@ T

(B) (A) 3R (R) THI ¥l €, T (R), (A) ! T = 716 2|

Q) (A) 5 g, T (R) To@ T

(D) (R) &= g, fohg (A) TTeTd T

3T ST w9 R fafvs gl faafae s Ird o e g3t |
Trefafed d 9 37 foafael o U & G&1 HIershH 1 =T hifel |
(A) ot - gevad] - whifell - Ferreid]

(B) Todt - geveE] - TRl - Hicd

(C) Yeuas! - fowdl - shifcd - TRmeiar

(D) Havect - fawdt - Jerredl - wifcd

T - 101 0 - 11 9 gafea ifse qen it & = o T3 fe 9 98 ST A1 =97 Hifs |

e - 1 - 11
( afger dfard ) & HED)
(a)  3ToRAI TR () RURRT SEE ¥ Heifid T wafast
(b) A S (i) IR FHEE 9 Hefud
(c) wfeaTarg (iii) ST Ha
(d) sl (iv) & v Fafat
&
(@ (b)) (© (@)
(A) @) @) @ ()
(B) (i) (@ (v) (i)
Q) (@) @v) @ ()
(D) (i) (v) @) ()
Y2 et 1 U i T §
(A) TRHE-T-ARRIRL (B) afRaTd-T-H¥aTR!
(C) hde-SH-HATH (D) HHIfcToh- 37— 3eHR
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25. Taraf in the Bahmani Kingdom signified :
(A) Province (B) Lard grant (C) Transit Tax (D) Gold Coin

26. Which of the following pairs of authors and their works is not correctly matched ?

(A) Shaikh Quthan - Mirgavati

(B) Manjhan - Madhumalti
(C) Kesavdas - Ramchandrika
(D) Nanddas - Dyan-Manjari

27. Which of the following temples of Vijayanagara was substantially rebuilt in
Krishnadevaraya’s time ?

(A) Nagendrasayana temple (B) Virupaksha temple
(C) Pattabhirama temple (D) Ganigitti Jaina temple

28. Match List -I with List - II and select the correct answer from the code given below :

List - I List - 11
(Event) (Year)
(a) Conquest of Malwa (i 1561
(b) Closure of the Ibadatkhana (i) 1584
(¢) Introduction of Ilahi era (ii)) 1592
(d) Conquest of Orissa (iv) 1582
Code
(@ ((b) ( (@
@) O (v @) (i)
® () O ) (i
© O @) @) @)
O () @) @) @)

29. Which of the following Mughal painters according to Abul Fazl-was excellent in drawing
of features ?

(A) Abdus Samad (B) Daswant
(C) Mir Saiyid Ali (D) Basawan
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25. oEH T H % 9 A ©
(A) (B) 9fH ST (C) e (D) &9 g

26. frefafad oraew! T STt Wil & i | ¥ iF 91 gafad T2 82

(A) 3@ FasH - THomEd
(B) He - AT
(C) hYERH - TEEfEE
(D) <™ - o A

27. TSR & fRg w4 1 =AU ®9 | FORETE & Fwia § YA: FH0 @ @
(A) AREREA "R (B) faeura Hfcx
(C) veIfnm HfeR (D) TR SH Hfex

28. - [ %! F - [ § GHfera hifs a0 giedi o < oA 7 Fe 9 981 ST &l 99 Fifd |

et - 1 g - 11
( Cergiféres &2 ) (av)
(a) W fosm () 1561
(b) SACTEMI I &G LA (i) 1584
(c) SITEl Held 1 §EIId (i) 1592
(d) < fas (iv) 1582
g
(@ B (© @
(A) @ (Gv) @) ()
B) @) @@ @v) (i)
© @ @) @@ (@G
D) @ (@) @) Q)

29. 379 % % ITTER HA A FeahR sTepfa i § g1 o ?
(A) 3T9gA TUE (B) T&ad (C) "R stelt (D) w@mEH
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30.

31.

32.

33.

34.

35.

Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :

Assertion (A) : Jahangir estabilished the tradition that the Rana of Mewar would be
exempted from personal attendance and service at the Mughal Court.

Reason (R) : He wanted to humiliate Raja Man Singh of Amber.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Who described Mughal cities as ‘Camp Cities” ?
(A) Manucci (B) Bernier
(C) Tavernier (D) Peter Mundi

Who among the following estimated the total population of India in 1600 at about
hundred million ?

(A) Morland (B) Kingsley Davis
(C) Irfan Habib (D) Ashok V. Desai

The English East India company founded a permanent factory at Surat in the year :
(A) 1611 (B) 1613 (C) 1621 (D) 1626

Arrange the following in chronological order and select the correct answer from the
code given below :

(1) Mughal occupation of Balkh

(2) Khan Jahan Lodi’s rebellion

(3) Treaties with Golconda and Bijapur

(4) End of Nizamshahi

Code :

(A @, @, ©G) 2 B) @, 1), @), O
© @ @ 6, 0 D) ) @), @), @

Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :

Assertion (A) : In 1690, Aurangzeb issued a farman, which made the madad-i-maash
completely hereditary.

Reason (R) : Aurangzeb wanted to bring the Marathas under the control of the
Mughals.

Code :

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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30.

31.

32.

33.

34.

35.

T T I e T €, TF H A (A) FET T § IR T T H/IOT (R)

HIT (A) : TRIR 3 59 e H1 AR foran STk 1= HaTg % YU T Tl R H
ufeerd B T Tal S o ST o o e

SHIUT (R) : I AT o sl T4 ol STIHIA A1 =rear o |

ST < aeaAl & gy ¥ fr=fafad § 9 FF-a1 98 872

(A) (A) ¥R (R) 31 T §, 3R (R), (A) F T =A@ ¥

(B) (A) SR (R) SHI w& €, W (R), (A) Tt T =0 T 2 |

© (A) W@ T, fFg (R) T T

(D) (R) ¥ &, T (A) T &

forem gt w1edl o1 FrfeR TR et © 2
(A) T\ (B) WK (C) Zaffer (D) = =S

=1 H | fohH T 1600 H WA ot el SITEEAT 1 TH HUG o S STIAT T 2
(A) Wreve (B) TR efa@ (Q) M gEE (D) Wik off. <9 %

e S <fean o A g | Tt el T e § 9§ g ad B w12
(A) 1611 (B) 1613 (C) 1621 (D) 1626

FreAiferd 1 WE1 hTeTsh o1 A7 319 Tl I Rl = A1 U e § wifSw

(1) el gR 908 W SRR (2) WM Sl ARl w fage
(3) Tiiciguel 9 SIS § HfY (4) TSR 1 3T
EEE

(A) @), @) 6) @ B @, @) @, O
© @ @ 6 Q0 D) ©) @, @),

o < Fadea fed T3 ¥, T Sl e (A) TRl T § SR TH I HIOT (R)

HIAT (A) : TH 1690 H STTSE 7 Th WHM 5N AER-T-HI &l 01 €9 § S9N a1 |
TRIUT (R) : TRTSTe TS bl GITell o 307 B ST <mea o |

ST 31 gl & T # frfafaa § 9 sH-a1 96 €2

(A) (A) 3R (R) THI T T, 31 (A) T W& == (R) B

(B) (A) 3R (R) THI T& €, T (A) I T A (R) Tl T

Q) (A) 5 g, T (R) o T

(D) (R) & %, forg (A) T T

J—0607 19 P.T.O.



36.

37.

38.

39.

40.

41.

42.

43.

44.

What was the major change effected by the Act of 1858 ?
(A) The Indian army was reorganized

(B) The Indians were given more representation into the Legislative Council
(C) The power transferred from the East India Company to the British Crown
(D)

D) The East India Company took over direct control over the affairs in India

Who founded the Bethune college in Calcutta ?
(A) Ishwar Chandra Vidyasagar (B) Raja Ram Mohan Roy
(C) Rabindra Nath Tagore (D) Surendra Nath Banerji

The partition of Bengal (1905) was annulled by the :
(A) Indian Councils Act of 1909

(B) Chelmsford Montague Report

(C) Proclamation of Delhi Durbar in 1911

(D) Government of India Act of 1935

Who argued that the theory of de-industrialization was a myth ?
(A) Amiyo Baghchi (B) Daniel Thorner
(C) Morris D. Morris (D) Toru Matsui

When was the first Industrial Commission set up in India ?
(A) 1916 (B) 1936 (C) 1947 (D) 1950

In the second half of the 19th Century, British capital was mainly invested in :
(A) Iron and Steel (B) Textile Industry
(C) Plantation Industry (D) Railways

Gandhi’s intervention in the Ahemdabad Mill strike in 1917 resulted in the enhancement
of wages for the workers by :

(A) 10% (B) 15% (C) 25% (D) 35%

‘Dyarchy’ in the Provincial government was established by the :
(A) Act of 1892 (B) Act of 1909 (C) Act of 1919 (D) Act of 1935

The main grievance of the peasants in the Champaran Satyagraha (1917) was regarding
the :

(A) abwabs or illegal causes (B) oppression of the landlords

(C) tinkathia system (D) land revenue demands
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36.

37.

38.

39.

40.

41.

42.

43.

44.

1858 < AfufTa g/ o= Y@ Ufeds Tenfq feram e o ?

(A) RIS 1 GHieA foham 7 |

(B) Rl ol SHaeieR URug § iR stfues wfaffuc e foran o
(C) o vIfed %2 sfoean et | fofest e 1 TIMMIRa &1 g |

(D) 3% fUean et 7 WRd Frert "l § oTan e fson e o |

ARl H ST hieis ohi TATqA1 fore i oft ?
(A) IR =% formarR (B) TSI W e 1
(C) o iR (D) HLEA SIS

el o fA9TSH (1905) Rl HHE T feam = o :
(A) v wRfEa T 1909 % g1

(B) <rEwWIE Hierg i g/

(C) 1911 %! feeil SR =wom g

(D) TerE= 31 sfuean sAfufem 1935 &% g1

forem ek faan =t ofF- sl 1 fag we faes ar?

(A) 3T ST (B) efe ok (C) wRgdafi® (D) d% Hayqs

IRA § vgell SHeEnfiTeh ST 1 e el foharm T o ?
(A) 1916 (B) 1936 (C) 1947 (D) 1950

19 off vraTest & S0 B fofew ISt =1 qema: frawn feman e
(A) el iR soumd | (B) Ul &M H
(C) dren Jue &M H (D) Y& #

1917 § sTeveres fiel Uil ot gediat | TTeft % SRa o HRO A5igd | gfg o E ¢

(A) 10% (B) 15% (C) 25% (D) 35%

Y=g TR | §8 YT ki TTGAT ki T o -

(A) 1892 % sTfufTad gN (B) 1909 % sifufTaw gM

(C) 1919 & sifufm g1 (D) 1935 & sifufam gm
THRA & HAWE (1917) § Fohl &1 G 3= fhd o IR H o417

(A) TEEmEl A IR S A & foeg (B) [EATHAT o Icdted W
(C) faTenfaan sqaeen W (D) Y USTE &l HIT T
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45.

46.

47.

48.

49.

50.

Match the List - I with List - II and select the correct answer :
List - 1 List - I1

a) Chaudhry Khaliquzzaman i)  India Wins Freedom
)

(
(b
(c) Maulana Abul Kalam Azad
(d) Dr. Rajendra Prasad

Codes :

iii) India Divided

(

Jawaharlal Nehru (i) Pathway to Pakistan
(
(iv) Discovery of India

(A) Gv) (@) @) (D)
(B) @) @ (@v) (i)
© @O @) (@v) ()
(D) @) (v) (@) ()

The Silk Letter conspiracy was organized by :

(A) Maulana Abdul Bari and Maulana Mohammad Ali
(B) Maulana Obeidullah Sindhi and Maulana Barkatullah
(C) Maulana Abul Kalam Azad and Maulana Mahmud Hasan
(D) Raja Mahendra Pratap and Von Hentig

During Renaissance the study of Greco-Roman classics came to be known as :
(A) Individualism (B) Hedonism

(C©) Humanism (D) Scholasticism

Who called commerce as ‘a perpetual war of wit and energy among all nations’ ?
(A) Jean Bodin (B) Jean Baptiste Colbert
(C) Thomas Mun (D) Thomas Hobbes

Calvinists in France were called :

(A) Catholics (B) Huguenots (C) Presbyterians (D) Puritans

Who amongst the following was known as the Prince of humanists ?

(A) Desidarius Erasmus (B) John Colet
(C) Thomas More (D) Francesco Petrarch
-00o0-
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45.

46.

47.

48.

49.

50.

qﬁﬁ-Iﬁgﬁﬁdl@gﬁﬁﬁﬁﬁﬁﬂ%gﬁﬁ%ﬂﬂ%ﬁﬁ@@@ﬂéwmwaﬂm|
gt - 1 gl - 1
EICHECRIER b (1) Wf?‘ﬁqyﬂ@n
ECIEGIGIEEE (i) T < HfeREE
C) T ST el SIS (iii) sfoear fearee
(iv) Tewmadl 31w sfuea

Sa

WHT FHIE T8k TSI i ASHl SR of

(A) WM oTegal ard IR AT e oTelt

(B) W oige fameft 3R Wit sRehasen

(C) WA ST HeA™ TG SR A Jeqg 5
(D) ST HE= WY 3R i af=

TGl (qASIROT) et B THiehi- U0 Selfaehi o STEa ol ST Il ©

(A) AR (sveifagfesH) (B) HEdrE (TSITsH)

(C) wraEs (FAMH) (D) Tifewams (ShEfesH)

foFe a1 fof o ‘ Tk AR g5 © =13 TR &7 o fore 9+t ugi o <= °'?
(A) SISl (B) I S IR

(C) ovg HA (D) <99 esq

HE H hfcafantedt st fore T ¥ ST S § 2
(A) Fffas (B) TSI (C) ufaefamd (D) wife

Freferfed | | ford ‘Areenfedl o1 TSIHAR’ o &9 § ST 720 2
(A) HEfEm wmy (B) I whieie
(C) =" ar (D) W] Ugreh

-00o0-
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